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3900b3930000 0363930l 5O BMEMmO 39bgMSGHMGO:
Mod - 65800 d59ma30l 999 (modulo)

Matlab:
mod (23, 5)=3
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1LYz M-d9dmbgzgzomo Moibgzqodo:

N = mod(11*N,31)
11, 28, 29, 9, 6, 4, 13, 19, 23, 5 ..

356 3-00¢9gMol Jobodser®o LEsbost@o:
Xp41 = mod (23 —1,16807x;)

x / 2147483647 = (0,1)

oG sd0l 033¢qd9bBoaos (ver.d: 77),
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Suppose we have a random number generator which generates random numbers uni-

formly distributed in [—1, 1]. To generate random points in the unit circle generate
+ 2 o +

a pair of random numbers x,,y,. If x5 + y; < 1, then accept (., y,); otherwise

discard (., y,) and generate new random numbers.

(a) Use, e.g., the function rand in MATLAB to generate points in the unit circle. Plot

the accepted points.

(b) What is the probability that a pair of points is discarded? Use the observed

number of discarded points in a run of 1000 points to approximate the value of .
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N dgdmbggzomo Gogbgo.
N1 - 2655303l Bgz00;
Int =S * Nu/N; ;

Hit and miss method “

f(x) = { 1 if x is inside the volume

0 elsewhere

N
Z f{xé]
i=1

V=Vv.=_ _
' N

3690500Mds:

1 256%Mm30q00560 06¢)gaM oo Lodbmbob faloo: e~N 4
e~N -4/d
d 996%mI0gd0560 0BE Mo FmbE)g JoMwm 06GHgacgdom: e~N 2
B3OSO MB350l 258tmygbgdols »306M5EHgLMdS: d>8

d 296%Bm30 900560 063 gaMwo Lodbmbol {oloo:

053650:
3390005309000 063930905 d 456Bmdoengdsdo: N9 03965309;
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3-9 600l 0bEgaMowo: Int = [[[ f(x,y,2)dxdydz

063926905 33500053 OHGOOm:
Int =AVEXY f(x:, Y5 Zx)
AV = AxAyAz

063926905 dmb)g 356w m dgommEom:
Int = ﬂVZ V)
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Importance sampling

39000b393000 MH03b39d0L 2obsfioergdols Igmmeo: sampling;
Simple sampling - 056505M0 gobsffoergds;

dmb@9 35Mm I900m©Yd0L JOMOMOO 3OMdEGTs: LGSR (33090 S 36030 Bvbd(30900;

39000b393000 MH03b3900L Aobsfiowrgdol gmbdaos f(x):

Ll fix
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@53b3oMg g(X) Bmbjgos:
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b Tr
I _[ f(z)dzx f;(( i (z)dz = ;E;dc‘:(r)

b Ce) = [ g(@)ds

o

339 S BEBOZMGOOL gotroddb. T = G(z)
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onmzo f@)/9(r) 9xu6m aam30 39bd30, 9.0. ImbEg 35ME® 063JAMds 3353093l YRO™ BmE Tggal, o6
09039 LOBMVBEHOL JoLsgds TglodergdgEos H9MHEHOWIdOL MomEgbmdol d9doMmgds: (N).

Bm®3069d0l B3mbJizools 4odmygbgdol 3oMHmdgdo:

1. 5BoeoBm®o© 063930 gdsoO: r=G(x)
2. 5OLGdMBL F9dGHBNRMEO B 305: x=G(r)
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B0 9d0L gbdi0s:  exp(-x)
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3539¢0m0:

63030560 g3bd 300 / \ A

g(x) = P1(x) + P2(x)

53b3s6m9 936305 - 49mbol BMbd 30900 K sdo:
2 £
erf(z) = ﬁl et dt.

erf(x), erfinv(x)



